RoLLER BEARING SERIES WiINcH MoTORS
3100/5100/7600

WZ7600 SErIes SINGLE UNIT

WincH Motor FEATURES

o000 0O 00O

NFPA v o 8 S aneils
The Sensihl

Heavy duty roller bearing design
Special high tooth gear set to maximize starting torque

Start-up torque values up to 4000 in-lbs for single units and 8000 in-lbs for
tandem units

Special designed ring seals and pressure balanced wear plates maintain high
motor effiency throughout all operating ranges
Cubic inch displacements from 2.00 through 12.1
Working pressure up to 2500 PSI

Speeds from 100 to 2400 RPM

Available in both single and tandem units

A wide range of porting, mounting and shaft options available
Doweled and high strength cast iron construction

100% factory tested




Dimensional Data (inches)

_
B
|
mcbm
A
T
ot -
%i% :

£ E L
F
F
M
/-
T /
,%%,‘@Z,f, — - 1 , 7‘@7 ‘@77‘@ - — =
T
Single Unit
[ moee | A [ B] ¢ | b | E | F T e [ v [ o+ T
W3000/3100 | SeeDrive | 2.94 [ .75+GW [ 175 [3.31+1/2GW[ 5.44+GW | 550 | 0.88 | 4.81 | See Gear
Shaft Housing
W5000/5100 | Codesin | 3.38 | .75+Gw [ 175 [3.75+1/2G6W][ 588 +Gw | 625 | 1.00 | 5.06 | Codesin
Engineers Engineers
W7500/7600 | Handbook | 3.75 [1.00+GW[ 2.00 [4.25+1/2GW[ 6.75+GW | 800 [ 1.25 | 6.13 | Handbook
GW = GEAR WIDTH
Tandem Unit
[ Mg | A [ B ] ¢ [ b ] E [ F T e[ ] o] v T ] 1] i |
W3000/3100 | SeeDrive | 2.94 | .75+Gw [ 175 | 494 +Gw(F) [869+Taw| 550 | 0.88 | 4.81 [ seeGear | 250 [ 1.50 | 5/8-11Unc2A |
Shaft Housing
W5000/5100 | Codesin | 3.38 | .75+GW | 175 | 557 +GW(F [9.50+TGW]| 6.25 | 1.00 | 5.06 | Codesin | 2.88 | 150 | 5/8-11UNC2A |
Engineers Engineers
W7500/7600 | Handbook | 3.75 [1.00+Gw] 2.00 | 6.25+GW(F) [10.75+TaW| 800 | 1.25 | 6.13 | Handbook | 3.00 | 150 | 5/8-11UNC2A |
GW = GEAR WIDTH GW(F) = GEAR WIDTH (FRONT SECTION) TGW = TOTAL GEAR WIDTH (FRONT AND REAR GEAR SECTIONS)
IN-LBS W3100 STARTING TORQUE IN-LBS W5100 STARTING TORQUE IN-LBS W7600 STARTING TORQUE
3000 3000 6000
2500 2500 250 5000 3.00
Additional Testing pf 295 275
2000 Geal Size sLa'ﬁ"g 2000 o 4000 .
; 2,
Torgpie Valugs Available 2.00 50
Upon Request 175 225
2.00 2,
1500 1500 5o 3000 00
175
. 125
1000 Averpge Running Torque 1000 2000 / 1.50
(28 in-Ibs. per 1" Gear 1 — 100 =
500 por 100 PSI) Gear oo 1 Gear 1000 ] Gear
Width = Width Width
0 0 0
0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000
PSI PsI PsI

In accordance with our policy of continued product development, we reserve the right to change specifications without notice. The data is average test data and should
not be misconstrued to represent performance of each unit.

Permco US Phone 330-626-2801 Permco Hydraulik AG Permco (Tianjin) Hydraulics Inc., Ltd.

1500 Frost Road Fax 330-626-2805 P 0. Box 553 236 Jinbindadao Free Trade Zone

P 0. Box 2068 e-mail info@permco.com 6343 Rotkreuz Tiandin Port, China

Streetshboro, OH 44241 WWW. permco.com Switzerland e-mail technic@permcotj.com
e-mail heinzm@permco.com WWW. permcotj.com

Copyright © 2006 Permco © Bulletin #06-WM100A



RoLLER BEARING SERIES WiINcH MoToRs
3100/5100/7600

Permco produces three series of roller bearing gear winch motors. These have been specifically
designed for powering winches and other similar applications that require high starting
torque and smooth power distribution.

Our conventional motor design uses a ten-tooth gear, which provides good performance
above 400 RPM. However in certain applications, start up torque and slow speeds (below 400
RPM) are very important. This is where the winch motor thirteen-tooth count gear comes into effect.

It provides:

1- Improved Starting Torque
2- Smoother Low Speed Operation
3- Extremely low torque ripple

Above 400 RPM, torque, speed and efficiency approach our standard motor models with the
10-tooth gear design.

The “W” series gears are a computer-assisted design that optimizes displacement, tooth strength
and smooth power application. Displacement of the W7600 is 4.1 cubic inches/rev, per inch of
gear width, the W5100 is 2.57 cubic inches/rev, per inch of gear width and the W3100 is 2.0
cubic inches/rev, per inch of gear width.

The typical “W?” series motor (1.50 inch width or larger) has a minimum starting torque of about
80% of the theoretical and can be smoothly operated at speeds as low as 100 RPM.

The W3100, W5100 and the W7600 winch motor are available in the same configurations, gear
widths and mounting options as Permco’s standard M3100, M5100 and M7600 motors.
Permco’s Engineer’s Handbook may be used in selecting the options and coding. To order, please
start the part number with a “W?”; this represents a winch motor application. If you are building
the units from spare parts, please use the special winch motor thrust plates, winch motor ring
seals and winch motor gears.

Copyright © 2006 Permco

) o g §
A motion technc/ﬂi}y ./ ._/ _/ _) _}_[ .} _) JJ



IN-LBS
3000

W3100 WINCH MOTOR

SPECIFICATIONS 2500
2000
1500
1000
500
0
0 500
TORQUE & HP vs RPM
@ 2500 PSI
IN-LBS HP GPM
3000

70

100

2500

60

80
2000 50
40

1500 60
30

1000 40
20

20
500 0
0 0 0

0 400 800 1200 1600 2000 2400 0 400

RPM

© Inaccordance with our policy of continued product development, we resenve the right to change specifications without notice.

The data is average test data and should not be misconstrued to represent performance of each unit.
Copyright © 2006 Permco

STARTING TORQUE

2.00
Gear
Width
1000 1500 2000 2500 3000
PSI
GPM vs RPM
@2500 PSI
2.00
Gear
Width

800 1200 1600 2000 2400
RPM




STARTING TORQUE

IN-LBS
3000

W5100 WINCH MOTOR

SPECIFICATIONS 500 -
2.25
2000 2.00
1.75
1500 150
1.25
1000 100
Gear
500 Width
0
0 500 1000 1500 2000 2500 3000
S|
TORQUE & HP vs RPM GPM vs RPM
@2500 PSI @ 2500 PSI
IN-LBS HP GPM
3000
70 2.50
100
2500 2.25
60
2.00
80
2000 50 1.75
1.50
40
1500 60 1.25
" 1.00
1000 40
20
500 20
10 thear
Width
0 0 0
0 400 800 1200 1600 2000 2400 0 400 800 1200 1600 2000 2400
RPM RPM

© Inaccordance with our policy of continued product development, we reserve the right to change specifications without notice.
The data is average test data and should not be misconstrued to represent performance of each unit.

Copyright © 2006 Permco



W7600 WINCH MOTOR
SPECIFICATIONS

TORQUE & HPvs RPM
@2500 PSI
IN-LBS HP
5000
180
4500
160
4000
140
3500
120
3000
2500 100
2000 80
1500 60
1000 40
500 20
0 0
0 400 800 1200 1600 2000 2400
RPM

© Inaccordance with our policy of continued product development, we reserve the right to change specifications without notice.
The data is average test data and should not be misconstrued to represent performance of each unit.

Copyright © 2006 Permco

STARTING TORQUE

IN-LBS
6000

5000

4000

3000

2000

1000

(=)

500 1000 1500

PSI

2000

GPM vs RPM

@2500 PSI
GPM
140

120

100

80

60

40

20

o

400 800 1200

RPM

1600

2500

2000

3000

2400

3.00
2.75
2.50
2.25
2.00
1.75
1.50

Gear
Width

3.00
2.75
250
2.25
2.00
1.75
1.50
1.25
1.00

Gear
Width




Winch Motor Parts Breakdown

(110G

1)
W/

W3000/3100/5000/5100 TYPE | (ONE PIECE SHAFT)

3 z‘t 6 T 1

@_ -

W3000/3100 TYPE | (TWO PIECE SHAFT)

| 2|
| =

B
0 = @) 90 0)—

& o8

W7500/7600 TYPE | (TWO PIECE SHAFT)

Copyright © 2006 Permco



Winch Motor Parts Breakdown (con’t)

R
W3000/3100/5000/5100 TYPE | (ONE PIECE SHAFT) GF\\E}\\ 22 23
SINGLE AND/OR TANDEM UNIT @ )
3 21

W3000/3100/5000/5100 TYPE | (TWO PIECE SHAFT)
SINGLE AND/OR TANDEM UNIT

W7500/7600 TYPE | (ONE PIECE SHAFT) /ﬁ\‘ © Wzi':@
SINGLE AND/OR TANDEM UNIT g&

W7500/7600 TYPE | (TWO PIECE SHAFT)
SINGLE AND/OR TANDEM UNIT

Copyright © 2006 Permco



WINCH MOTOR PARTS LIST

Item No. Description Part Number Item No. Description Part Number
On On
Drawing Drawing
W3000/3100 SERIES MOTORS 15 Thrust Plate (TP) X-0947-DV
16 Gasket Seal TA-2995-244
1 Snap Ring W023-206 17 Housing LZ-0577- ** - **
2 Shaft Key WQ09- *** 18 Drive Shaft &/or Gear Set Rk Rkkkk L kokokk
3 Continental Shaft Hok L kEE 19 Drive Gear e
4 Outboard Bearing W58-39 20 Idler Gear HAE AR E Ak
5 Bearing Spacer 400-00682 21 Port End Cover (PEC) YZ-0592- *
6 Shaft Spacer SA-0558 22 5/8" Grade 8 Washers W033-2
7 Shaft Snap Ring W86-100 23 Grade 8 Hex Head Cap Screw W1- **
8 Seal Retainer ZD-0558 24 5/8-11 Grade 8 Threaded Rod ZD-0391- ***
10  Shaft Seal (MOTOR) W62-49-11 25 5/8-11 Grade 8 Extended Rod ZD-0391 -***
11 Shaft End Cover (SEC) * -0574- ** 26 5/8-11 Grade 8 Hex Nut W3-65
12 Check Valve Assembly L-0280-K 27 Bearing Carrier ** _0576- ** - KEX
13 Ring Seal KA-0558-1XS 28 Connecting Shaft XZ-0022
14 Crowned Roller Bearing X-0921
15  Thrust Plate (TP) ZZ-0947-DV
16 Gasket Seal TA-2995-242 W7500/7600 SERIES MOTORS
17 Housing QZ-0577- ** - **
18 Drive Shaft &/or Gear Set HAE KK Rk
19 Drive Gear Hokk L kokxkok  kkokx 1 Snap Ring W85-315
20  Idler Gear Rk kR kkokx 2 Shaft Key WQ9- **
21 Port End Cover (PEC) WZ-0592- ** 3 Continental Shaft ** 0024 x**
22 5/8" Grade 8 Washers W033-2 4 Outboard Bearing W58-48
23 Grade 8 Hex Head Cap Screw W1- ** 5 Bearing Spacer UA-0558
24 5/8-11 Grade 8 Threaded Rod ZD-0391- *** 6 Shaft Spacer ZE-0558
25 5/8-11 Grade 8 Extended Rod ZD-0391- *** 7 Shaft Snap Ring W-86-137
26 5/8-11 Grade 8 Hex Nut W3-65 8 Seal Retainer Qz-0961
27  Bearing Carrier **_QDT6- ** - Hxk 9  Seal Retainer O-Ring K-2995-164
28 Connecting Shaft YZ-0022 10 Shaft Seal (MOTOR) W62-49-1
11 Shaft End Cover (SEC) **k (0574 **
12 Check Valve Assembly L-0280-K
13 Ring Seal VA-0558-1XS
14 Crowned Roller Bearing Q-0921
15 Thrust Plate (TP) AZ-0947-W
16 Gasket Seal TA-2995-252
W5000/5100 SERIES MOTORS 17 Housing RZ-0577- ** - **
18  Drive Shaft &/or Gear Set AR KRRk ok
1 Snap Ring W023-283 19 Drive Gear HAX L REARE L kokxok
2 Shaft Key WQ9- ** 20  Idler Gear KAk kR kxokx
3 Continental Shaft ** 0024 21 Port End Cover (PEC) XZ-0592- *
4 Outboard Bearing W58-47 22 5/8" Grade 8 Washers WO033-2
5 Bearing Spacer 558-00474-BS 23 Grade 8 Hex Head Cap Screw W1 - **
8 Seal Retainer Z/B-0558 24 5/8-11 Grade 8 Threaded Rod ZD-0391- ***
10 Shaft Seal (MOTOR) W62-49-8 25 5/8-11 Grade 8 Extended Rod ZD-0391- ***
11 Shaft End Cover (SEC) ** 0574~ ** 26 5/8-11 Grade 8 Hex Nut W3-65
12 Check Valve Assembly L-0280-K 27  Bearing Carrier ** _0576- ** - Hxk
13 Ring Seal MA-0558-1XS 28 Connecting Shaft ZA-0022
14 Crowned Roller Bearing R-0921 29  Thrust Plate Seals 280-1774-939

Subject to change without notice

ERMED

Copyright © 2006 Permco




Reference Sheet for Available Winch Motor Gears

W3000/3100 10 12 13 15 17 20 22 25 27 30
996-00981-XX Continental Gear Set X X
024-00980-XX SAE-B-Spline Code 14 Single Gear Set X X X
W5000/5100
996-00873-XX Continental Gear Set X X X X
024-00872-XX SAE-B-Spline Code 14 Single Gear Set X X
024-00883-XX SAE-C-Spline Code 6 Single Gear Set X X X X
024-00974-XX SAE-C-Spline Code 6 Tandem Gear Set X X X
W7500/7600
996-00897-XX Continental Gear Set X
024-00896-XX SAE-C-Spline Code 6 Single Gear Set X X X X
X = Parts in stock and available for sale: call for additional gear sizes and lead times
W3000/3100 W5000/5100
77-0947-DV Thrust Plate | 2/per gear set X-0947-DV Thrust Plate 2/per gear set
KA-0558-1XS Ring Seal 2/per gear set MA-0558-1XS Ring Seal 2/per gear set
W7500/7600

AZ-0947-W Thrust Plate 2/per gear set

280-1774-939 T Plate Seal 4/per gear set

VA-0558-1XS Ring Seal 2/per gear set

© PERMCO, INC 10-05
Bulletin # 06-MC13
© SUBJECT TO CHANGE WITHOUT NOTICE

LFERMET



